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Physics resultant vector worksheets

MOVE ABOUT WORKSHEETS VECTOR ANALYSIS WORKSHEET No.1 Answers are supplieD.  Simply click on the word answer at the end of each question. 1. A ship heads west at a steady speed of 15 km/h.  Current 3 km/h is running south.  Calculate the ship's direction compared to the seabed.  (Indicator: The
vection of the ship plus the direction of the current will add up to the total veal of the ship as opposed to the seabed.)  Answer 2.     Two tractors pulled a large rock in an attempt to divert it out of the way of the new fence line.  One tractor draws with 3000 N power west and other tractors draws with 2500 N power
southwards due to terrain.  Determine the resulting force acting on the stone.  If the stone has a mass of 1000 kg calculating the acceleration of the stone due to the resulting force acting on it.  Answer 3.     Three horror power coplanars each magnitude 10 N acts on the body of a mass of 5 kg as shown below. 
Determine the magnitude of the net force acting on the body and the resulting magnitude of acceleration.  Answer 4.     If vector A = 5 N north and vector B = 10 N east, look for the results of a vector A - vector B.  Answer 5.     The submarine is moving at 20 km/h due to the east.  Soon it moves north at 15 km/h. 
Calculate the submarine's redirplant changes.  Answer 6.     The Nighthawk F-117A fighter jet has a real air of 1000 km/h due east.  There is a cross-wind blow towards the E60oS at 100 km/h.  Calculate the jet's direction compared to the ground.  (Hint: You should use the &amp;sine cosin rules if you intend to do this
question mathematically.)  Answer 7.      The 10 kg sled of mass sits on the cendent surface as shown below.               Force is enforced on the sled by way of strings tending at 60o to horror.  If the tension in the ropes is 150 N and the friction force between the sled and the surface is 55 N, is the sled moving under these
conditions?  Explain.  If the sled does not move determines the size of the acceleration that moves.  Answer 8.     The barrel of the mass of 300 kg is pulled by a single rope attached to a mass tow boat of 1000 kg.  If the drag on the tu and barge is one-tenth of the weight each, and the total forward force performed by
the tug is 5130 kg of force (i.e. 5130 x 9.8 N), look for magnitude: a.      total force against the motion forward tu and the barn; B.      acceleration of the tug/barn system; c. the acceleration of disrebalance on the barn; d. Tension in the climbing rope. Answer 9.     Ma's mass astronaut = 80 kg standing on horror floor move
vertically with acceleration a.  If the acceleration because gravity on the astronaut is g = 9.8 ms-2, write mathematical expressions for and calculate the value of R's response between astronauts and spacecraft floors when: a.      a = 0; B.      a = 8 ms-2 and above; c. a = 8 ms-2 down. [Top] ANSWERS TO VECTOR
ANALYSIS WORKSHEET No.1 Only use your browser's back button to return to the question. 1. 15.3 km/j W11.3oS or S78.7oW 2.     Resulting force = 3905 N towards W39.8oS &amp; acceleration = 3.9 ms-2 in the same direction as the resulting force. 3. Net force = 20 N &amp;&amp; acceleration yield = 4 ms-2. 4.
11.2 N towards N63.4oW 5.      25 km/h towards N53.1oW 6.      1054 km/h E5oS 7.     The hordy force left on the sled is 75 N, which is greater than the friction force to the right.  Therefore, the sled will move left with a 2 ms-2 acceleration.  If you don't get the right acceleration, ask yourself how many of the 75 N to left
actually speed up sled – it's all or just part of it?  Some of it needs to overcome friction! 8. (a) 1274 N, (b) 37.7 ms-2, (c) 11 307 N, (d) 11 601 N. 9.      (a) R = MA g = 784 N and above; (b) R = MA g + MA a = 1424 N on;  (c) R = MA g - MA a = 144 N and above. Back to Vector Analysis Worksheet No.1 [Top] FORCE -
WORKSHEET 1 Note: For a full solution to this work demon sees the pdf file at the end of the question. ENERGY - WORKSHEET 1 1.      Kate chased Angela with a huge bucket of water.  He walked 100m in eastern, followed by 100m due north and then 150m south.  Calculate Kate's shift from her starting point at the
end of her run.  Answer 2.      Brad's Lamborghini had an early 20ms-1 southern vetier and a 5 ms-2 south acceleration for five seconds.  Specify: a.      total changes in the direction of the car b.      the final direction of the car after five seconds. Answer 3.      A car redirered from 5 ms-1 south to 12 ms-1 east.  Calculate
the change in the direction of the car.  Answer 4.      A 1000kg mass car transformed the velocity from 20ms-1 north to 30ms-1 north in 2 seconds. A.      Determine the amount of work done by the car engine to achieve this change in velocity. B.      Calculate the acceleration of the car and the clean force used by the
engine to cause this acceleration. Answer 5.      A 5000kg mass lorry traveling at 15ms-1 is brought to rest within 100m.      Calculate the average force that truck brakes work on to achieve these velocity changes. B.      Identify the energy transformation that occurs as the kinetic energy of the truck is reduced to zero.
Answer 6.      Buses travelling continuous speed of 12ms-1 around the round bend of radius 150m.      Determine the centrist acceleration (magnitude &amp; direction) of the bus as it points to the bend. B.      Calculate the centrist force acting on the bus (magnitude &amp; direction), if the bus mass is 2000kg. Answer
7.      A ship heads west at a steady speed of 15 km/h.  Current 3 km/h is running south.  Calculate the ship's direction compared to the seabed.  (Indicator: The vection of the ship plus the direction of the current will add up to the total veal of the ship as opposed to the seabed.)  Answer 8.      Two trucks pulled on a big
rock in an attempt to divert it out of the way of the new fence line.  One truck pulled with 3000 N power east and another truck pulled with 2500 N power southeast. A.      Determine the magnitude of the clean force acting on the rocks.  (Hint: Scale vector diagrams will help here.) B.      If the stone has a mass of 500 kg
calculating the size of the stone acceleration due to this clean force. Answer 9.      Two trains are being used in structural integrity tests.  Car A mass of 900 kg moves east at 25 ms-1 and collides but does not coalesce with a mass B car of 700kg moving west at 20 ms-1.  After the collision Car B moved east with a speed
of 30.6 ms-1.  Specify: a.      Total system momentum before the collision. B.      Total system momentum after the collision. c. Speed and direction of car A after the collision. d. Changes in the momentum of car A as a result of the collision. E.      The average force acting on Car A, given that the momentum changes take
1.5 seconds. Answer 10.  Review the graph below, which shows the vehicle's direction over a period of time. Specify: a.      Average speed of vehicle from t = 2s to t = 4s.b.      The speed of the vehicle and .c.       Vehicle acceleration from t = 2s to t = 4s. d.      The amount of distance protected from t = 0 to t = 4s. Answer
[Top] ANSWER TO RE-BROWSING WORKSHEET No.1: Simply use your browser's return button to return to the question. 1. 111.8m E26.6oS 2.      (a) 25ms-1 South; (b) 45ms-1 South 3.      13ms-1 E22.6oN 4.      (a) 2.5 x 105 A; (b) 5ms-2 north and 5000N north. 5. (a) 5625N in the opposite direction of the original
motion; (b) kinetic energy turns into a &amp;noise energy; Heat. 6. (a) 0.96ms-2 towards the centre of the round bend; (b) 1920N in the same direction as eternal acceleration. 7. 15.3 km/j W11.3oS (or S78.7oW) 8.      (a) 5000N; (b) 10ms-2 9.      (a) 8500Ns East; (b) 8500Ns, East; (c) 14.35ms-1 West; (d) 35 415Ns,
West; (e) 23 610N, West. 10. (a) 2ms-1; (b) 1.8ms-1; (c) 2ms-2 in direction to movement; (d) 12m. worksheet-additional.pdfDetermine magnitud (in centimeters) and direction (in standard form) the vector generated B+A for each of the below combineds. Measure its length in centimeters and angle of direction in standard
form (i.e.; right 0°, up 90°, left 180°, down 270°, etc.). Use the reference line to be flat as needed. 7th, 8th, 9th, 10th, 11th, 12th, Higher Education, Adult Education, 25th HomeschoolPage, 6th, 7th, 8th, 9th, 10th, 11th, 12th, Higher Education, Adult Education, 39th HomeschoolPage, 10th, 11th, 12th, Higher Education,
Adult Education, Homeschool, 49th StaffPage, 10th, 11th, 12th, Higher Education, Adult Education, Homeschool, 49th StaffPage, 10th, 11th, 12th, Higher Education, Adult Education, Homeschool, 49th StaffPage, 10th, 11th, 12th, Higher Education, Adult Education , Homeschool, StaffPage 49th, 10th, 11th, 12th, Higher
Education, Adult Education, Homeschool, StaffPage 49th, 10th, 11th, 12th, Higher Education, Adult Education, Homeschool, 49th StaffPage, 10th, 11th, 12th, Higher Education, Adult Education, Homeschool, 49th StaffPage, 10th, 11th, 12th, Higher Education, Adult Education, Homeschool, StaffPage 49th, 10th, 10th, 1st
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